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K17 X729 RIDN OX1IMWR Nvan 9»KT 95 — Anyone who claims that
he is a descendant from the house of the 2sR1mwn, is really a
slave.

Overview

An °1915 72Y is not permitted to marry a 287 (and a X" is not permitted
to marry a N°1v1d An5w). OITNN was an "1¥1d 73¥ in the *X1»wn household. He
killed the entire *X1wn family, except for one girl. She committed suicide
so that 01717 would not marry her. Immediately preceding her death she
exclaimed that whoever claims to be a descendant from the “XInwn
household, is really a descendant of ©1777; and is therefore an 72y as well.
mooin will be discussing whether 01717 or (some of) his descendants
actually married Jewish women (illegally). Had they indeed (illegally)
married Jewish women, then their descendants would be =W> Jews,
according to some opinions'.

N7 32 — And this is indeed so. It is not merely a claim by this girl, but it is true.
(&, 47 Pryep) POMY WY PD3 BRI MWK M3 9577 — for YR1w said the same

thing in 901 79WY P95, That whoever claims to be a descendant from the o>X1wn
is really an *72v.

mooIn claims that this poses a difficulty with s>"w1 explanation elsewhere:

(xn moie) BOIRRI TIRI DIWIPT WD HY Awp o) — And from this X3,
there is a difficulty with the interpretation >"'@- offers in 299281 X P9
TR MR ©27ARY 9 1R KT — where the X713 states that the 0°»on said to
©5"3K; ‘you are our brother’ —

an? oaunPn w1 — and "2 explained there, the reason —

NN W R — that the o°non said to him ‘you are our brother’ (even
though he was a descendant of 017717, the slave), is -

BRWOR MR 797w 959 — because his mother was Jewish. This concludes s”"wn
interpretation on the X723, NM201N now poses the difficulty —

12 287 — for if this is S0 as >"w asserts that the mother of 05°73X was Jewish, then —
DYBRTWS IRWI DITT 127 10 — since s'©1777 children married Jewish
women —

77 X723V SRR — why are their descendants considered as slaves —

" There is a dispute if an *1y13 72y is YXw° N2 ¥ X2 whether the child is a 72 or if he is Tw>.

* It was assumed (or perhaps it was known) that none of them married Jewish women since it is 770K.

? See: “Thinking it over’.

* oo was a king towards the end of *1» n°2, and a descendant of 9171771 The X there relates that 093
read the 7710 on 277p77. When he reached the 151 w°R 799 nn? 5210 82,7100 (which prohibits a ‘stranger’
from becoming a 72n) his eyes flowed with tears. The 021 responded; ‘have no fear 093X for AnX IXR’.
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9% NOR 790 PR 87 — for HXww himself maintains that -

BRI N2 YU N2 7ap) 292070 72 — a gentile or a slave that lives with a
Jewess (even though it is not permitted, nevertheless) —

(%, 07 nwms) PRWTTR D 7997 — The resultant child is a =w> Jew, as "Xmnw

maintains in Y97 279. Why therefore does YXmw state than any descendants from
the *X1nwn n°2 are 2°72y¥?! According to *"wA they (may have) married Jewish women and
the children are 0> w2 D>9xW".

NUHRIW IRWI R W% R — And therefore it is necessary to maintain

that the descendants of 0171177 did not subsequently marry Jewish women. Rather they
married other 0°72y, etc. Therefore the resultant children retained their status as 2°72yv.

mooIn answers the anticipated question; Why then did the o251 refer to 097X as "nX!,
since he was a slave? m»oIn explains:

SR IR ATIRTPY — and the 0°201 called out to 09°73K; 'FIAN AN’
[12RT 7195 SInnT 9207 2,77 Mpas Mmoo T Powy] NIXRD [RYT] MR Tapw 5% — for (even)

an 72 is considered "R’ in regards to observing the NN, An "3 72y is
obligated to perform all the nmx» that a woman is obligated to do. Therefore they
considered him a ‘brother’; even though he was an 72v.

Summary
An 0°2910 72w or an *1v1d 72y who fathers a child from a n*»X W, the child is

a Ww> 77 according to XMW,

»"w1 maintains that the mother of 093X was Jewish; therefore the o°non
called out to him 70X 11 nR'.

mooin asks: according to >"w1 why does PX1w maintain that the descendants
of 0177 are 0°72Y; perhaps their mothers’ were Jewish.

nooIn maintains that none of the descendants of 01777 married Jewish
women, including the father of ©9°1iX. Therefore they are all 2°72y. The
o 0 referred to 093X as "IMR', since as an "1V1D 72V, he 1S NI¥N2 2711
NI,

Thinking it over
What does nooin refer to when he states ' v qwp 1891'?
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